
 

a) Betriebsstunden:  t =
Q

Q̇
=

60000 
kWhth

a

15 kWth
= 4000 

h

a
 

 

b) jährliche Erdgaskosten:  

Erdgasverbrauch =
Q

ηth
=

60000 
kWh

a

0,5
= 120000 

kWhHi

a
  

 

Erdgaskosten = 120000 
kWhHi

a
∙ 1,11

kWhHs

kWhHi
∙ 0,05 

€

kWhHs
= 6660 

€

a
  

 

c) elektrische Leistung =
Erdgasverbrauch∙ηel

t
=  

120000 
kWh

a
∙0,4

4000 
h

a

=
48000

kWhel
a

4000 
h

a

= 12 kWel  

 

d) jährliche Erlöse: 

 

Strom: 48000
kWhel

a
∙ 0,3 ∙ 0,10

€

kWhel
= 1440 

€

a
 

 

Erdgassteuer-Rückerstattung: 120000 
kWhHi

a
∙ 1,11

kWhHs

kWhHi
∙ 0,005 

€

kWhHs
= 666 

€

a
 

 

Gesamte Erlöse: 1440 
€

a
+ 666 

€

a
= 2106 

€

a
 

 

e) Wärme:      Erdgasverbrauch =
Q

ηth
=

60000 
kWh

a

0,95
= 63158 

kWh

a
 

 

Strom:        Erdgasverbrauch =
W

ηel
=

48000 
kWh

a

0,45
= 106667 

kWh

a
 

Gesamt: 63158 
kWh

a
+ 106667

kWh

a
= 169825

kWh

a
 

 

Einsparung =
169825

kWh

a
−120000

kWh

a

169825
kWh

a

= 29,3 %  



f) fp =
PEKWK−PEKWK,Stromgutschrift

QKWK
 

 

1.) über Leistungen  

 

PEKWK =
12 kWel

0,4
= 30 kW  

oder 

PEKWK =  
15 kWth

0,5
= 30 kW  

 

fp =
30 kW∙1,1−12 kWel∙1,8

15 kWth
= 76 %  

 
2.) über Energiemengen 

 

fp =
120000

 kWh

a
 ∙1,1−48000 

 kWhel
a

∙1,8

60000 
 kWhth

a

= 76 %  

 


